


W

3]
% Think Time
S ” A. Tick (v') the correct answer.
1. Rewant’s parrot has a
o\, \_ (a) brown beak.

7T i (b) green beak.
(¢) red beak.




2. The parrot wants to go back to

(a) Rewant,

(b) Ruhu.

(¢) the man who sold him.
3. The parrot is angry because
- (a) Rewant is angry.
(b) he is missing Ruhu.

(c) he does not want to sit in the cage.




4. Rewant understands what the parrot wants, so
¥ 3 {a) he gives him an apple.

(b) he sets him free,

b 3 . (c) he takes him to Ruhu.




B. Read and Answer.
1. What does the parrot want to eat ?

W

2. Why does Rewant open the cage ?

3. Is the parrot happy in the end ?

4. Givetwo reasonswhythe parrot was angry.
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Fill in the blanks with suitable words from the box given
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He is Ruhu. The parrot likes Rewant but
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@ ) The parrot is upset in the beginning but in the end he is
happy. Read these words that help you to express your
feelings.
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;{ﬂ* Grasping Grammar

A. Complete the following conversation:

A tigress has been brought to the zoo. She is missing the
jungle and her cubs. She shares her feelings with Ralph
who has gone to the zoo with his friends.

Ralph : Why you 50 sad 7
Tigress : I missing the jungle.
Ralph : Why they brought you here ?

Tigress : Sothat you all can see me.
Ralph : I so sorry about it.

i Tigress : Human beings don't understand us.
! - e = - -
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B. Join the following sentences with ‘and’ or ‘but’ :

1. I wanted some hot soup it was cold.

. Ritu is tall Reena is short.

2
3. Benu can sing dance.
4

. Lalit Dev went to the zoo.
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